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1. Evaluate ||m\/_ 1 =7
x—>1§/_ 1
Sol: Let.y:\/_<:>x—>1<:>y—>1
3 2
Ilmf 1_I|my 1_|| y +y+l_3
-13/x =1 vly?—1 vt y+1 2
Jx -4
2.Evaluate lIM———=——="
valuate X*)lﬁ\/_ \/— 2
Sol: Let.y=\/_<:>x—>16<:>y—>2
2_
fim— X4 i Y4 Y+2_4
xalG\/_ 4fx -2 y»Zy—y 2 v2y+1 3
3. Find Iiml—cc;sx:?
x>0 By
Sol:
., X ., X
1— cos X 2sin 2 L

im
x>0 5x? Ho(sz 4 10 x>0 (ij 10
2 2

o 1-x?
4. Find lim

=7
x-1 Sin 72X

Sol:

o 1-x° —2X -2 2

lim= =lim = £

x-1 SIN 71X X—>17r0057zx 7r><(l) V4

5. Evaluate i(93)(2) =7?
dx
d 3x? 3x2
sol: — (97 )=1In9-9™ -6x
dx

d
6. Evaluate — (X*) =7
dx

sol: Let:y=(x")

Iny =xInx

iﬂzlnx+x-£

y dx X

dy

L =ylInx+1|=x*[Inx+1

Y ylinxs=x fnx+1)
d (arccosx} d (cos™tx 5

7. Evaluate — - =—| — =1
dx\ arcsinx / dx| sin™x

Sol:

=~ & 100 ¥ # R ficfp & 3%

dfcosx|_ 1 -1
dx | sin™ x _(sin‘lx)z Ji-x?

.sintx—cos™ x-

#ir g

1-x°
~ —(sin" x+cos ™ x)
\/1—x2(sin‘l x)2

1

8. Assume T (X)=X* - please find f'(X) =?
1
Sol: y = X*
Iny==Inx
lﬂ:—izl X+—2
y dx X X
Y _ y{——lnx+i} = i[_ln_eri}
dx 2 x° x> x?
9. Asume f(x)=Ilog, [6X3 —7X* + 5X] please
find f/(x) =?
Sol:
3 72
f(x)= Iog7[6x3 —7x° +5x]= In[6x x +5X]
In7

2 —

£/(x) = 1 5 182( 1£:X+5
In7 6x°—7x° +5x

10. Evaluate .[4 4x-3 dx =?

3 (2x* —3x—2)?
Sol: Let:u=2x*-3x-2

du = (4x—3)dx

4 4x -3 18 1

k (2x% —3x—2)? -[ Maaduin
1

126

11. If we know £{f(t)} J. e f(t)-
£lsinat}="

1

18_ (i_ij
.\ 7

u

dt | please evaluate



F> < 8 100 8 = B A A SR iE

o st R I\/’ X
J.o e .sinat-dt 15. Evaluate Ion 1 ¢ sodx="?
+e
= _EJ‘OOO(Sin ot)-de™ sol : Let:u=e" < du=e"dx
S

ﬁﬂﬂ/f

nvs e*
:_%[(Sin at)-e)| _J'O e .d(sin at)} IO 1+ % —I > du =arctanu; =3 1

1 oo s
:__[(O_O)_a.[o cosat-e tdt:| 16. Evaluate _[X (1+8X)dX=7
S ' 0 1-x '
= _ﬁz'[ooocosat.defst sol : Let :u =1—x < du = —dx
S l+ex=c-au+1
0{[ —sty|* [ 5-st
=——|(cosat)-e™) —I e -d(coswt)} x(L+ x) 1x (1+ £ —eu) [ (L+ &)
2 - - _
S o b L = dx = L r du = .[1 r g |du
a[ © .
2l 0-D+af’e -(smat)-dt} v ax(lee) » »
2
IO =J'1 ,«sdu—j1 Tdu=gu|1 —(1+&)Inuf;
a a’ e
==, “e . (sinat) - dt =g(l-x-1)-(1+&)In(l-x)—In1]
1
T ast (e _ =(1+¢&)In| — |—&x
:>Let.J'O e -(sinat)-dt=A (L+e) (1_)()
2
o (04
A=—-——A
x (1
S 17. Evaluate J. ( +6X2)dX=?
a’ a s’+a’ a °(L-x)
(1+S_2)A:S_z:> 5 A:S_z sol : Let:u=1-x <> du=—dx
o l+ex=¢—-au+1
a .
A: = _St' 'dt
32+a2 J.O € (Slna!t) J‘X (l+€X) _ 1- X l+3 gu)du
0 (1— u?
12. According to 11. please evaluate £{sintcost}:? ( .
1—X 1-x & 1 _X 1-x
sol:£{sintcost}:£{%sin2t}:%£{sin2t} ,[1 J-l du_(1+5)u +elnuf
1
1.2 1 =(l+e L—1}r5[ln(1 x)—In1]
2 s2+(2)? s*+4 1-x
dx =7+ C =(1+¢) X _¢ln L
13. Evaluate J.SGCX X="7+ 1—x 1—x
. sec X +tan x
SO|.JS€CXdX=JS€CX'de 18. Find the area of the region bounded by X=y2 and
=Insecx+tanx|+C X=y+2.
sol :y>=y+2
a2 y=-1 =x=1
14. Evaluate =
L& {y=2 = x=4
1 2
sol : Let 1u =+/Xx < du = —— dx 2 1 1 9
24/x A= [+ y)—yz}iy=(2y+§y2—§y3j =5
Jx u |2 -1
J~42 -2du =2x 2 =i
! \/_ In 21 In2 19. The region enclosed by y:3x—x2 and y=0 is rotated
about the line X = —1. Find the volume of the resulting solid.
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sol :3x—x?=0=x=0,3
8 3

Vi = .[o 2zrhdx = J-O 27Z'[X _ (—1)]f (x)dx

= L327r[x +1]3x — x2 Jox = 2;;]03[2)(2 +3x—xix

3

P L
4" "3 27

457
2

10 Sin4x
20. Evaluate 4(1

1014 X

sol:Let: f(x)= sin 4

V1+x°

sin(-4x) _ sin4x
\/1+(—x)1° X
f (x) is odd function

J-o sin 4x

014 X

COSX
21. Evaluate I 4d

X1+

sol:Let: f(x)= cosX

X1+ 7°

cos(-X) _  cosX
(—X)\/1+ © xv1+7°
f (x) is odd function

I _cosx 4

o f(=x) = =—f(x)

=0

2 f(=X) = =—f(x)

=0
X 1+7r

22. Evaluate J'cos’l xdx = ?

sol:jcoslxdx=xcoslx—jx( -1 ]dx

N1-x?

:xcos’1x+j

X dx
J1-x?
1 1
=XCOS' X+ = | ————=d(1-x%)
zj\/1—x2
=Xcos ' x—+/1-x*+C

2
23. Evaluate j AX+20x + 25 dx =7?

16x® +120x% +300x + 250

J~ 4x% +20x+25 I (2x+5Y
16x% +120x? + 300X + 250 2(2x +5)

:j2(zx+5)dx:j(4x+10)dx:zln|4x+10|+c

2
24. Evaluate I , Xsec™ xdx =?
NE)

2 1 ¢2
sol :jz xsec™ xdx:zj2 sec™ xdx?

le , 1

X -
% Xy x? -1

dx

\"‘lﬂ

FERG
P PER Y 5 8,000 & o BIE ASiEw o) pE

2%t ,J\B?'rﬁ%ﬁmﬁ]g_ # f(t)

d R A
£(t) =k (t)
= f(t)=y,e"

-+ £(0)=1000 =y,

-, f(t) =1000e"

-, £(3) =1000e* =8000
—ef=2

f(7) =1000e"
=1000(e* f

=1000x 2’

=1000x128 =128000
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